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1) Show that if ¢ is arbitrage free for the pair (V, X)) with ¥ # (), then there exists
A € RY, such that ¢ = Y oses AsVi

It suffices to duplicate the proof of Proposition 7 in Chapter 5 of the lecture
notes replacing the space RP by the space R{€0}V=

An asset price ¢ € R is said arbitrage free for the payoff matrix V' and the
information structure (S;) if ¢ is arbitrage free for all pairs (V,S;), i € Z.

2) Show that if the information structure (5;);ez is symmetric, that is S; = S; for
all (i,7) € Z xZ, then there exists at least one arbitrage free price for (V, (S;)ez)-

Let \ € Riﬂr and ¢ = ), .4 AsVs. Using the proof of Proposition 7 in Chapter
5, one shows that ¢ is arbitrage free for the pair (V,S;) and since all sets S; are
equal to S, then ¢ is arbitrage free for all pair (V,.S;), then arbitrage free for V'
and the structure (.5;);ez-

Let us consider an economy with two agents Z = {1, 2}, five states at date 1,
D; = {1,2,3,4,5}, an information structure S; = {1,2,3} and Sy = {1,4,5} and
the payoff matrix V:

SO = O = O
OO = OO

3)
1. Show that (V, Sy, 5>) has no arbitrage free price.

2. Show that (V,X;,3,), with ¥; = {1} = ¥, has an arbitrage free price.



3. Show that (V,%,%,), with ¥; = {1} and ¥ = {1,5} = has an arbitrage
free price.

4. Show that (V,%,,), with ¥, = {1,2} and X5 = {1,4,5} has an arbitrage
free price.

a) Let ¢ be a no arbitrage free price of (V, Sy, S2). Then, there exists (A1, A2, A3) €
R? ., and (p1, po, p3) € R3, such that

G =M+ A=—
Q2:/\2:M2
g3 =X3=0

which is impossible since A3 > 0.
b) The structure is symmetric, then it has an arbitrage free price, (—1,0,0) for
example.
¢) (—=1,0,0) is an arbitrage free price with the multipliers 1 and (1, 1).
d) (—1,1,0) is an arbitrage free price with the multipliers (2,1) and (1,1, 1).
The purpose of the end of this homework is to show that the structure (V, (.S;);ez)
has at least one arbitrage free price if and only if it satisfies the following condi-
tion:
(AFAO) there is no (z;) € (R7)* such that Y}, ;2 = 07 and V,, - z; > 0 for
all © € Z and all s; € S;, with at least one strict inequality.
4) Let us assume that Condition (AFAO) holds true. Let F' be the linear
mapping from (R7)? to R7 x RY x []..; R% defined by:

F((zi)iez) = (Z Ziy — Z ziy (Vs - zi)8i€5i>iel>

€L €L
a) Show that ImF N [RY x R x [[,., RS = {0}.

Let (a,b, (G)iez) € [RY x R x [[,c; RS in the image of . Then, there exists
(2;) € (R7)* such that:

Since a = —b and a > 0 and b > 0, one concludes that a =b =0 = ZZEI z; and
since (; € RY, Vi, - 2z = (js, > 0 for all i € T and all s; € S;. If for some i € Z,
¢; # 0, then the AFAO is not satisfied since there is one strict inequality among
Vi, - 2i = (is; > 0 forall i € Z and all 5; € S;. Then a =0 =0 and ¢; = 0 for all
i, so ImF N [RY x RY x [[,., RS = {0}.

b) Using the same argument as the one in the proof of the characterisation of arbi-
trage free price, show that there exists (a, 8, (Mi)iez) € [RY, x RY, x [[,er R34,
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such that for every i € Z,

O=a—B+ Y sV

SiESZ‘

Since ImF N[RY x RY x [[,.; R3] = {0}, using again the proof of Proposition
7 of Chapter 5 of the lecture notes, one deduces that there exists (o, 5, (\;)iez) €
R, x RY, x [[,cr RY.] such that 0 = F'(a, 8, (\i)iez).

To compute F'(a, 3, (\)icz), we remark that for all (z;) € (R7)E, F((2)iez) -
(a, B, (Ni)iez) = ((20)iez) - F'(cv, B, (A\)iez)- So, the first inner product is equal to:

.. (z> s (—zzi) FY S AV =)

€T €T i€L $;E€S;

Reordering the terms, we get that this is equal to:

ZZi (04 - b+ Z )‘isi‘/:si>

i€T 5;,€5;

So, F'(e, B, (Ni)ier) = (= B+ 3 s, Nis;Vei) ;opr Which leads to the desired

result.

¢) Conclude by showing that ¢ =  — « is an arbitrage free price for V' and the
information structure (.S;).

From the above result, for all i, ¢ = f—a = ZSZE s, Ais; Vs;» SO ¢ 18 an arbitrage
free price for the structure (V, (S;)iez) by the very definition.

5) Let us assume the structure (V,(5;);ez) has at least one arbitrage free price
q.

a) Show that if (2;) € (R7)? satisfies V;, - z; > 0 for all i € Z and all s; € S;, with
at least one strict inequality, then ¢ - z; > 0 for all ¢ € Z with at least one strict
inequality.

For all i € Z, there exists \; € Riﬁr such that ¢ = Zsiesi Xis; Vs;- S0, q - 2z =
(ZSZ_E s, )\isil/;i) Czp = ZSi cs, Nis;Vs; + zi Since all terms of the previous sum are
nonnegative and at least one is positive, one concludes that the sum is positive.
b) Using an argument by contraposition, conclude that Condition (AFAO) holds
true.

If the AFAO does not hold, then there exists (z;) € (R7)* such that >, ;2 =
07 and Vi, - z; > 0 for all i € Z and all s; € S;, with at least one strict inequality.
Hence, for all 4, ¢-z; > 0 and there exists one iy such that ¢-z;, > 0. Consequently,

q- Y ;e % > 0, which is in contradiction with » . ;2 = 0.



